Start Das Einmaleins - Tierrennen Ziel

110 30|12 |100/8 |16 |90 45|80 55|20 37|22 36 27

7114 160/0 |6 |18 |4 |140/50/70|35/15 |5 [25|9 (200

1) 205=___ 13)9010=___ 25)3701=___
2)702=__ 14)905=___ 26.)1102=___
3)6010=___ 15)8010=___ 27)303=__
4)605=___ 16.)8u5=__ 28.)606=__
5)602=__ 17)1005=___ 29)2701=___
6)007=__ 18)1105=__ 30)20010=__
7)302=__ 19)7010=__ .
8)9i2= 20)7i5= Wer gewinnt das Rennen?
0)10010= 21)305= Das Zebra oder das
10) 442=__ 22)1g5=__ LDromedar?
11)8u02=__ 23)405=__

12) 2i2= 24)5(i5=_
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